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DIRECT TAXES
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The figures in the margin mdlcate full marks
. for the questions. :

Answer- either in English or in Assamese.

A SR T Tet =1

1. (a) State whether the followmg statements are
true or false : | 1x5=5

WWW@W@QWW.

(@) To be ‘an ordinarily resident’, an
individual must satisfy both the addi- -

tional conditions besides satisfying any
one of the basic conditions.




_ (ii)' Interest credited in Récognised Provi- '
dent Fund Account is exempted upto :

ATt @ity SRUMR Botes s @l
To SREE A9 2R i twms
@ 9% (© wewimE)

(b) 95% (9°5% =OIHLTT)

(© 10% (10% ORRTT)
@ 12% (12% *i@"“ﬁf@'i@)

* (iii) The base of compuitation of income
under the head “ lncome from house

property” is: )
“sfg TS 9{31 o oS =i ﬁcﬁﬁ'

fofe = ¢

< ) (a) Municipal value

ﬂeﬁvnﬁﬁﬁ g = qw

M) Rent received
i} Ol
“(c) Standard rent
N el
(d) Annual value
T LT |
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.(iv) Deduction under section 80(C) is
applied on :
80(C) ¥ wrerfe Wammza, .

(@) Individual and Hindu und1v1ded
. family '

e =i Wﬁw &g sifRarw
8RS,
(b) . Firm
R it arf%ésm T
(©) Company
CPr>{iTI e @IS .
(d) All of the above
| 8vRY HBRRNT erTS
(v) On which income deduction under
section 80G is not allowed ?°

oY N TT SER o[ 80G YRR
o T TIPS AR |

(@) Salary (@)
(b) House property (5% “l"lﬁ)
(©) Long-term capital gains
AR TN e
(d) None of the above.
el «ore 7 |
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2 lee short answers to the followmg questions :

WWB{WW

@

®)

2x5=10

Who is an assessee m—default ?
Assessee in-default - -@H ?

Name the deductions alloWéd from annual
value while computing income from house

. property.

(c)

ot B R TEAR TG AR TN =W

Who is a spéciﬁed employee ? -

‘.ﬁmawa@m?

(d) Mentlon any two perqulsltes wmch are
' - taxable for all employees

TR anfsﬁﬁ R mﬁ‘ﬂ WY perquisites

S

Name the persons as stated in section 2(31)
of Income Tax Act, 1961. '
1961 s e S ¥ 2(3 1) e

IR ww TER A
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3.

lee brief answers to any four questlons

5><4—20

ﬁmwﬁﬁmw\mwﬁ

(2)

()

@

.What is PAN 2 Mentlon the cases under

which PAN is compulsory o
PAN & ¢ %%WPANQWWW

¥

What is partly agncultural income ? lee
examples.

P qsﬁw-m’f% 2 B fm

State the consequences of ‘Best Judgement _

_ Assessment’

mﬁmwﬁwww@mwu

When does the hablhty fo pay advance tax
arise ? How it .is calculated ? o
<@ 7 SRR wm@vm Bea @%ﬂt w2

WE FEME Feid «1 ?@ ?

" (¢) Explain the meaning 'of ‘Business and

Profession’. o
TN AE ey ol IO AN
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(f) Mr. Chetia furnishes the followmg partlcu-

lars of income for the previous year
2017-18 :

2017-18 eﬁ’aﬁrwﬁa%@m ofemE
O SER WRR OUYPTR T 48
() Income from agriculture in India
.Rs.30,000. - |
SRS FRES i 30,000 B3| -
(ii) Royalty received from Government of
India Rs. 2,25,000.

WW’NMWZ%OOO
B

(iii) Income from business, earmed in
Afghanistan Rs. 1,70,000.
wenﬁm@www 1,70,000 -
B3|

, (iv) Income accrued in Bhopal but received
in Singapore Rs. 20,000.
oS SiEd g Fiolie g
wiF 20,000 B

(v) Income from agriculture in Pakistan
Rs.15,000.

WWWWISOOO
Bt - |
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Compute Mr. Chetia's gross total income if
he is '
(i) resident o |

I =
(i) not ordinarily resident and
ARSI AT T, W
(iti) non-resident. |

- = ).

- 4. Answer any four from thé following : 10x4=40
FPRe R @I sifE Bt i 8

() Mr Ghotalais employed in a cotton textile mill
at Bangalore. He furnishes the following
particulars for the previous year 2017-18 -

R DT et @ i Ao
&z WiR| (96 2017-18 <HRSY TWOR I
SR O N WSS
() Basic salary: Rs. 25,000. per month.

31 vt ¢ 25,000 B WA

- (ii) Dearness . allowance : Rs. 6,000 per "
month., ‘ -

RN Tt SISt 2 6,000 5!
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(iii) Bonus : Two inont_hs basic salary
I ¢ TNH T @A

(iv) Entertainment allowance : Rs. 2,000 p.m.
S-S St ¢ MR 2,000 B3|

(v) House rent allowance : Rs. 5,000 p.m.
W elgl e ¢ Wi 5,000 G

(vi) 'Com'mission based on turnovef
achieved : Rs. 40,000.

Rl @oi® IR 2 40,000 Bt

(vii) Travelling allowance : Rs. 1,000 p.m.
(80% spent). - ' o
I oret 3 MR 1,000 Bt (80% <=6
-2 ) N

(vii) He has been provided with = gas,
electricity - and water facility - and
employer spent Rs. 15,000 on them.
codT o5, RN <=6 =1y 5Re eme
9 =W 9 I FAsGR 15,000 Tt -
Wb ]S -

(ix) Employer's contribution to Recognised
Provident Fund: 15% of salary.
Mrelete SRTRNEE Ranssiy wRsl
TRE 15% ,
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(x) He paid Rs. 6,000 per month as rent
of the house occupled by him in
-+ Bangalore.

(98 WS SNSRI
WW@@WGOGOW«
ool SmiE @i

Compute his Gross total income under
the head 'Salaries' for the assessment
year 2018-19.

2018-19 75 fel mﬁa IR
freie c@eaasmﬁﬁmwn

(b) Descnbe the manner and procedure of
computing long-term capital gains. What are
the deductions and exemptions available
from capital gains under section 54 ?.

W|54Wwww@mmms ‘
R U @@%w L Zica?

(c) What do you mean by advance payment of
-tax ? Explain the consequences of non-
payment of advance tax by an assessee.

e 39 S I B @ 2 el o
: uﬁamwﬁ%%ﬁﬁmqﬁﬂ
kRl 3

(d) Kabya owns a house in Guwahatl Durmg

the previous year 2017-18, -§-rd pomon of
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the house was self-occupied and %rd
portion was let out for residential purpose
at a rent of Rs. 8,000 per month. Municipal
. value of the property is Rs. 3,00,000 per
annum, fair rent is Rs. 2,70,000 per annum
and Standard rent is Rs. 3,30,000. He paid
‘municipal taxes @ 10% during the year. A
- loan of Rs. 25,00,000 was taken by him
- during the year 2015 for acquiring the
property. Interest on loan paid during the
- year 2017-18 was Rs. 1,20,000.

PR SRR 9T 1 WM | ST I

2017-18% <=rhie- % N Wu’i fAog 7o -

MWL % o A 8,000 T FAYS
- SITe i | w=eee AR o U 3,00,000
. B3, M o ©twl 2,70,000 B, Wi Liced

~ ©I®! (standard rent) 3,30,000 Tl o€

TROR IRW 10% WS (51 39 S B |
2015 5or® o€ w=0B! Qe R 25,00,000
TIN % w4 o Il oY el @oR
R8m = 2017-18% o€ 1,20,000 Tt
AReNy 37 | .

Compute Kabya's Income from house

Property for the assessment year 2018-19. .

T oAt 7 2018-199 A1 PR JTRIRA
R |t ww w3 |
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(e)

®

Explain the meaning of ‘Deduction of tax
at source’. Give a list of payments which
are subject to deduction of tax at source.

Bore 9 TEwW wd Iyt M| A
ARTMR CFIe Bere W FER J9L
.Ww@%mmn ’

'Wnte short notes on any two of the
following : .

weg [ m@nnmm

(i) Regular assessment
e 31 fee

(i) On-line filling of return .
e 2R SR R

(m) Defective retum of income

Wﬁwm

(iv) Re-assessment.
o I Reepd |
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